1. Να λύσετε τις παρακάτω αριθμητικές παραστάσεις. 
2 .11 – 1 + 5 .3 – 18 : 9 =
0,75 + 4,25 – 4,2 + 8,2 : 2 =
500 + 8 .  (45 – 20) =
6 . (5 + 4) – 2 x (19 – 15)=
(2,1 : 3 + 0,4) x (3 : 10 + 2) =


  9 – (10−  8 ) : 3 =



 8 • ( +  0,6) – ( 4   − 2 ) : 2 =



( 2) – (3 - 1) =





 ()   (3) =


 (6    + 0,3) : (5 - 3 ) =


 (12 :  - 0,5)  (4 + 2) : 5 =





 (4 + 0,5 + ) : (3 - 2)   +  =
[bookmark: _GoBack]2. Να βρεις τον άγνωστο χ στις παρακάτω ισότητες :

Χ +(35+8,12)=75                  
Χ-(75 -18,25) =8                    
16.Χ = 256                         
(224+76 ):Χ =50
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